

⑦ Prop (Mellin inversion formula)

$$\phi(x) (= \text{inverse Mellin transform of } Y(s))$$

$$= \sum_{\substack{\text{poles} \\ \text{of } Y}} \text{res}_{s=z} \left(\underbrace{Y(s)}_{\text{function of } s} x^{-s} \right)$$

→ explicit power series in x
with coeff. poly's in $\log(x)$.

→ Can compute $G_s(t)$ by integrating term-by-term using above prop.

Like wise for $\frac{\partial^k}{\partial s^k} G_s(t)$.

DONE

⑧ Return to Formula for $L^*(s)$.

Prop:

$$L^*(s) = \sum_{n=1}^{\infty} a_n G_s\left(\frac{n}{A}\right) + \varepsilon \sum_{n=1}^{\infty} a_n G_{w-s}\left(\frac{n}{A}\right) + \sum_j \frac{r_j}{p_j - s}$$

Proof:

$$L^*(s) = \int_0^{\infty} \theta(t) t^s \frac{dt}{t}$$

by defn of $\theta(t)$

$$= \int_1^{\infty} \theta(t) t^s \frac{dt}{t} + \int_0^1 \theta(t) t^s \frac{dt}{t}$$

trivial

$$= \int_1^{\infty} \theta(t) t^s \frac{dt}{t} + \int_1^{\infty} \theta\left(\frac{1}{t}\right) t^{-s} \frac{dt}{t}$$

change of variables
 $y = \frac{1}{t} \quad \frac{dt}{t} = \frac{d(1/y)}{1/y}$
 $t = \frac{1}{y} \quad = -y^{-2} dy$
 $-\int_{\infty}^1 \theta(1/y) y^{-s} \frac{dy}{y}$

$$= \int_1^{\infty} \theta(t) t^s \frac{dt}{t}$$

$$+ \int_1^{\infty} \varepsilon t^w \theta(t) t^{-s} \frac{dt}{t} - \int_1^{\infty} \sum_j r_j t^{p_j} t^{-s} \frac{dt}{t}$$

uses functional equation

$$\theta\left(\frac{1}{t}\right) = \varepsilon t^w \theta(t) - \sum_j r_j t^{p_j}$$

$$\int_{c-i\infty}^{c+i\infty} L^*(s) t^s ds$$

$$= t^w \int_{c-i\infty}^{c+i\infty} \varepsilon L^*(w-s) t^{s-w} ds$$

change vars

$$= t^w \varepsilon \int_{w-c-i\infty}^{w-c+i\infty} L^*(s) t^{-s} ds$$

$y = w-s$
 & switch direction of s .

almost $\theta\left(\frac{1}{t}\right)$

but pick up poles since $w-c+i\infty$ is to left of $\text{Re}(s) = c$.

$$= \varepsilon t^w \theta(t) - \sum_j r_j t^{p_j}$$

$$\int_1^{\infty} \sum_{n=1}^{\infty} a_n \phi\left(\frac{nt}{A}\right) t^s \frac{dt}{t}$$

Prop: $\theta(t) = \sum_{n=1}^{\infty} a_n \phi\left(\frac{nt}{A}\right)$

↑ inverse Mellin of \mathbb{Z}^2 ↑ inverse Mellin of $Y(s)$.

Proof: by defn

$$L^*(s) = \int_0^{\infty} \theta(t) t^s \frac{dt}{t} \quad \text{characterizes } \theta(t).$$

$$\text{But } \int_0^{\infty} \left(\sum_{n=1}^{\infty} a_n \phi\left(\frac{nt}{A}\right) \right) t^s \frac{dt}{t} = \sum_{n=1}^{\infty} a_n \int_0^{\infty} \phi\left(\frac{nt}{A}\right) t^s \frac{dt}{t}$$

$$= \sum_{n=1}^{\infty} a_n \int_0^{\infty} \phi(t) \left(\frac{At}{n}\right)^s \frac{dt}{t} \quad \leftarrow \text{change of var } y = \frac{At}{n} t, dt = \frac{A}{n} dy$$

$$= \left(A^s \sum_{n=1}^{\infty} \frac{a_n}{n^s} \right) \gamma(s) = L^*(s) \Rightarrow \text{the prop.}$$

$$= \int_1^{\infty} \theta(t) t^s \frac{dt}{t} + \varepsilon \int_1^{\infty} \theta(t) t^{w-s} \frac{dt}{t} + \sum_j \frac{r_j}{p_j - s}$$

same argument

easy calculus

$$= \sum_{n=1}^{\infty} a_n \int_1^{\infty} \phi\left(\frac{nt}{A}\right) t^s \frac{dt}{t} = \sum_{n=1}^{\infty} a_n \int_{\frac{n}{A}}^{\infty} \phi(t) \left(\frac{At}{n}\right)^s \frac{dt}{t} = \sum_{n=1}^{\infty} a_n G_s\left(\frac{n}{A}\right) \quad \square$$

change of var
 $y = \frac{nt}{A}$